
Page 1 of  10



Page 2 of  10



Page 3 of  10





x 2

Justinw
Typewritten Text
Attach leg pad (#A) to each legs (#1).

Justinw
Rectangle



x 2

Justinw
Typewritten Text
Align a leg (#1) to the holes of the left lifting support (#2) and right lifting support (#3). Secure with bolts (#C).

Justinw
Typewritten Text

Justinw
Rectangle

Justinw
Typewritten Text
Align middle support plate (#4) to the holes of the left (#2) and right (#3) lifting supports. Secure with bolts (#D), but do not fully tighten.

Justinw
Rectangle

Justinw
Rectangle

Justinw
Typewritten Text
#3

Justinw
Typewritten Text

Justinw
Typewritten Text



Justinw
Typewritten Text
Align supports (#5) to the holes of the lifting supports (#2,3). Secure with bolts (#B), then fully tighten bolts (#D) from steps (#3).

Justinw
Rectangle

Justinw
Typewritten Text
Align left support (#6) to the holes of the left lifting support (#2). Secure with bolts (#B).
Align right support (#9) to the holes of the right lifting support (#3). Secure with bolts (#B).

Justinw
Rectangle



Justinw
Typewritten Text

Justinw
Typewritten Text
Extend button with line through the center hole of support (#5). Extend the line (#7) to each side of the lifting supports (#2,3). Make sure the line hooks on and attaches to the holding device. Secure hexagon with wrench.

Justinw
Typewritten Text

Justinw
Rectangle

Justinw
Typewritten Text

Justinw
Line

Justinw
Line



#7

Justinw
Typewritten Text
1) Align the base of table to the holes of the table top (#8), then secure with bolts (#B).

Justinw
Typewritten Text
2) Align the button with line (#7) to the holes of the table top (#8). Secure with bolts (#E).

Justinw
Typewritten Text

Justinw
Rectangle

Justinw
Line

Justinw
Rectangle

Justinw
Line

Justinw
Typewritten Text
Attach plastic circles (#I) to the cords on the bottom of the table. Secure with screws (#J).

Justinw
Rectangle



#7

Justinw
Typewritten Text
Place table cap (#10).

Justinw
Typewritten Text

Justinw
Rectangle

Justinw
Line

Justinw
Typewritten Text
Use button (#7) to adjust height of table.

Justinw
Rectangle

Justinw
Line




